R R A S B R 2R 5 IR TR
A
CHr iz = AL E A A TR 8], A g im»% R 317500)
BB 0 TR E bR A, FLFE IE AR PO 050 B, AR R R
s b, VR .

REEW: U TR SR R

1 R 7
AR E bRl (GB20695-2006 1= 30 SR S iR SR 25 )
2 A AR
2.1 &5
D IECk: ikl
2) VUM . tikat,
2.2 MRl E 1
D SRCHAR IR 432 LC5090 G AR LA, Bl e LC5090 7ELR L. LC5090 IY
JCIRERIRIE . LC5090 HhdtFEas. LC5090 AR LC5090 £ 4MEI &5 ;
2) iR FEEE 0.0001 g;
3) SUESS: JEESLAEZ) 0.45 um
4) 10 mL & &84T
5) bR EAEIESGBEPR S 281 99.5%.
3 VKB H]
3.1 PR R &

F R A B bR M TE(1000 mg/L):  ERRREGES SRR RAGME bRl 0.01 g COREHA
£/0.0002 g), EHT 10mL FENEH, I SmL msiHE, HEHEEIRS 10min, A,
AHIEER, ARSIMEE, #5. 4045 um WALIERS, FFiFE.

3.2 AW &
HERAFR S B A R F A B RORE 0.01 ¢ ORSHE) 0.0002 g), BT 10 mL &S,

A5 mL JEsht, ARG 10min, AR, AR, ARSER, 85,



28 0.45 um FALIEIE S, k.

4 BB FM

1) it ZORBAX RX-SIL, #£K 250 mm, W% 4.6 mm, $iff 5 um;
2) WEIM: IECkE: PUERERE=99.3: 0.7;

3) Jiti%: 2.0 mL/min;

4) KE%%: UV 278 nm;

5) kR E=iH

6) HFEE: 10 uL.

5 &R

5.1 PRRESLRLE

180

16. 18¢
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[mAU]
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0 1 2 3 4 5 6 7 8 9 10 11

[min]

12 13 14 15 16

F1 S¥SsSfwikinEsHEE (1000 mg/L)

18 19 20 21 22

y . g T L I = MRE  HitE
ZAFK t/min
/uAU*s JuAU X R
o R R R R 5 B 16.186 3250136.8 143625.3 1.597 11790

1. SR REERNE

5.2 ER MK



160 §
140 ‘
120
100
=)
E 80
60
40
20 k
0 o J
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22
[min]
2 B SR EPIEIRERRESHIERE (1000 mg/L)
e T AR E3t=0
B s t/mi
’ i JuAU*s /uAU
1 16.186 3250136.8 143625.3
2 16.239 3302032.6 145512.2
e 3 16.250 3265083.4 144114.1
ERiE 4 16.235 3257822.7 144059.2
5 16.207 3290712.1 145342.2
6 16.197 3282056.6 144870.3
FIE 16.219 3274640.7 144587.2
RSD% 0.158 0.617 0.530

5.3 PrRERZR

P 2zl EARERE 6 IR BGRERARIE IR EE DY 1000 me/L AUARHERR 10 uL, 2
é\

4T HPLC Jr#fr, 245 BLE TR N AL AR, LA

B7518: Ci =0.000305377%
3,600,000

A {EXFH: 2 = 1.00000

BONBARR, ehlbraE M ZL .

2,400,000

nnnnnn

5.4 AARAEFMRELGER R 2 5t ER
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180 =

160 ”
140
120
— 100
2
E 8
60
40
20
0
0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22
[min]
HRR 7 t/min UG THI AR/ E=l TEY%  THSEY%
1R R 1 16.178 3293436 145717.8 97.85
97.76
Es]iE 2 16.201 3302323.5  146195.0 97.67

PAESER AR AT/, FEdh 2 YOTATIE S5 R 2209 0.18%,  NFARAERUE I 1.2%, i
AEFRHEEESR o fe 2 T 24 v R U R ) 5 N 97.76%





